Bk BEE  (Q024FE &)

" - - = = RZERR
BFBR|  FFBR i 3% 2 % 8 £ e B
EREA T B [z 1

SBEE | A £ %% A 2
A=NRN—HYILTHAL ViR ik =48 A 4

L1 900 lemza FE B A s
BiE L ek (B2E) A E= x s

~  |Emezn Bl B x s
BELA (B2 i =x x s

- 10:30 | zx—vres BAIER fEX N 5
CHLEk (B NE = * 1

Big L i adE (BAA) A E= *~ s

20 L < ETHORE (AEA) A & 1
TEAHA = 2 2

NEEER FE #A A 3

HEMEZ L N A 4

2 mEA (BAN) ah mak x 1
10:40 Lesma | (B0) L B X 2
2Ry a—F o 2 K 1

T |xee Bl 55 K 2

1o |EFREA BE T K 3

BR 2R—vim (AEAN) Frid &EX PN 3
T 5 =- ~ s

ZF— R B e X 5

B AN AE & 1

<o F v — VR B L0 BEE A T

B ik == A 2

EREEE R BE 2 A 2

3 BB A x5 (55 A 3
1290 Ly | (B2 e A 3
e ah BA* A 3

I ER Ry A = N 1
Laoo |7 T4 A AR = x 2

i HEEF | (BAA) M KT 7k 2
EAXXEARE A A Z2Bf 7K 3

B | (K8 - miERH L B * 1
V=YX AT 4T AT =3 K B & 2

1/2




- - IRZERR
BER| R i = % B B % EE R
Ny Fy—EP R ZEBEA A Bt A 5
REAER B 8% X 3
4 14:30 |EERHHRA BA EE X 4
=EEEY R Z®A RET R BR X 4
~  |EEE (BFE) i 7N =l X 4
BRRE - TrLF¥— WH & N 2
g | 1000 |EERE (BAL HH Mm & 3
fL—=> 7R fFE B & 4
BAZFE B4R IEE & 4
B Y—EXH AR BE A 3
5 | 16:10 |EEEA oo A 3
EEREZA AH B2 A 5
~ IS ERR Il == X 3
E AR IR MH FR X 5
17:40 | pggimsis A 8 == 7k 5
iR % ANg T % 2
T/ aRER EaK IEE & 3
#b 75 B BGR FHE %A X 2
6 | 17:50
BR | 19:00

2/2




